Seat No. :

JA-101

January-2023
B.Com., Sem.-I

SE-101 (B) : Statistics — I
(New Course)

Time : 2:30 Hours] [Max. Marks : 70

YAARD : (1) €386 WAL o ll ooy sulde 8.
(2)  AUELAQAARAL By 53 s

— 1. () AR 2x0e WRA N2 3115 ugAviuls AN : 7

FE e [ON

(b) AAA WRA uzell 2urll A A S A WiARes AU ¢ a-l @2l ya-l 94
IRUCHS oS UM :
5@ 600 Rl 250 el WA el Asdl 8 2 el 105 i
WARLS doud R 8. e bR 375 UGB M-t WrARIs aua #% 8. 7

wiYdl
@)  stel Rual-dlapeirt Heud-ll Ad Yume 244 L §1ueL i HUlEL vrQual. 7
(b) " ADRA MR uell usivinis W 5

JA-101 P.T.O.



e ——

2. (@) DA WRA u=ell XAl Y ur-Al Fct ot v ANl —
x | 145! 160|140 | 135 | 150] 130 | 130/ 100 llg .
Y | 470 440|400 |410 | 460|320 | 260] 180 10

' 3 _g=0QUdAlx Ay -l
(b) A Rauct diois 3utirll sl x + 2y = 5 4R 2x + 3 5 ?
HES5] UL USUOHS ML 2.

YL
(@) Ruc Aol vt 240Q 243 dL el avguell.
(b) A4 MRl w2l A Ruet doin uudl Hadl ;

X Y

Heys 100 40

CUE] 25 4
USRS = 0.8

dHY Y = 50 |2 Xl 2is199) B Aad.

3. () sl gl i aondl iR deu Guailolldl il L.
(b) AR MRl el Gl vraetu-] i-<iizllor 531 :

ay 2013 | 2015, 2017 | 2019
0./ 135

ARl @) . |07 17
YA

(@) ARAL MUl uedl 33 Secidlov-t 530, A wrell 4 2023 W2 QUL Yl
ANl ; g B | |

Ch| & 42002 | 2005 | 2008 | 2011 | 2014 2020
QU EAMRASHHY) | 7 | 15 | 25 | 38 | 53 | 713 | 91 |
() (1 @)= 0.4 4 A3ticl it 200 & AL 4l W2 euctisly el A

2021
21 -

2017

JA-101

Yl Hondl

L _‘-’l‘[ | Gewig ]
2011 230
2012 242 |
2013 255
2014 271




4. () URRAAA A HRA Hi2 W WA €2 (GFR), & Worwi- &2 (TFR) 24

UIEL o= 62 ANl (URRL 56 <ll 4,40,000 B.) 7
Gz il | Al v | mdl v-Neu
(€A | cunsil A
15-20 18 1350
20-25 29 2378
25-30 23 2415
30-35 21 1995
| 35-40 26 1326
40-45 19 665
45-50 | 14 08

(b)  AoweAl DA R uRell -t 6L 2AA WAL A ER AL 24 YRV : 7

T 5 WAL

BuR (M) o Y | aad
| | @dl |y | @dlo| 0
- A W,
10 &l sl 3,000 180/ 4000( =~ 280 3,500
10-25 11,000 990| 13,000 1235 10,000
25-40 15,000 1050  17,000]  1020{ 16,000
40-55 19,500 2145  21,500{ 2150 25,000
2357 e 9,000| 720/ 11,000  935| 7,000
75 flay | . 4,000 200 5,000 450 3,500
Yl
(a) ol ;
() CUAHHUER
(i) Rl Y &R
| 7
(iii) UELAHE = _ |
(b) s Breai 5@ dadl 23,25,000 8 21 QWL 62 SR R 860 AL B i i?uag
40% w1l Woveiet Gl 8. A d By ecirll WEL Woveirt 6 45 S cll AR LB 7
Breartl 2emd s2al 44 GLOSL Y~ §

P.T.O.
- JA-101 3 k)



5. AR MHAL vl 241 - (8161 Ald)
(1) [slel 25l Flarll A Hulg1 avudl.
@) Al 12 s vadlsd 2 ueRUW 30 21 Aet x L y AL FA 463 64

¥ 25 S dllx %A y (22 erivins ANAL
(3) I’Ply=7—72x,é\l’-lcﬂr= |

y=-7+2x €™ dlr= 08
4 b, =9/5 % b, =9/20 I dl r 2.
(5)  AsACM 2 RucRiviy 42 dsiaq oyl

(6) ﬂéuﬁl& A U2 Sl A DAL Al @M.
(7)  ARUTHS Aol U a3y

(A) =310, (B) = 100, (AB) = 120, (N) = 410
ANl R WA B A1 A s8] 53]

2 2
Qi v 2020 42 YAl Bt D). 4l x = 3

) sl wellszorll Aani Ry = 106.4, 5, = 104 249 T,
WullsR1l 205 Rad),

(8) Q[ﬁutcﬂuaqelq-imﬂalglww 35 (M‘l&)m_?s (x 2010)

= 1.6 €14 dl eudisly

(10) YRvud AU 83U H2A M1 370 vudl.
(11) 2420203 30000 cUnd) As 2R3 YU, VAL 420 oUg),
Qe Hey up L. Al A 2R3 oy HeY 62 326l ¢
(12) s u&g—ﬂ § il 5 @ B, -m d-l 416) o €3 .(CBR) 21 8. R Wy Qg
SR AN A 24wy 1 5 éuw S ol ULEL Woyi- €3 (GFR) Anq.
| (13) 3Rt 3y €3 (SDR) Anaqy via-i YA WUl ‘ r
(14) 2l Qs 2isg A HR2AL QL Ay QU

W] s o ol 2

JA-101

14



Seat No. :

JA-101
January-2023
B.Com., Sem.-I '
SE-101 (B) : Statistics — I
(New Course)

Time : 2:30 Hours] _, [Max. Marks : 70

Instructions : (1) 'Marks_.of each question are indicated on right side.

(2) Simple calculator can be used.

. - (a) Find rank correlation coefficient from the following data : | 7
"X 196 |98 | 119 | 112 |94 |105 |98 | 124
Y |45 |47 |54 |51 |46 |51 |48 i__59

(b) From the following information, obtain the Yule's coefficient of association

between not permanent job and mental stress in life.

Out of total 600 people, 250 have permanent job a;id of them, 105 people are
mentally stressed. Out of total number ofhpeople: 375 people are having mental

stress in their life. by 7
OR ~
(a) Describe Karl Pearson’s ﬁroduct moment method and give its merits and
limitations. | . 7
(b) Find the correlation coefficient from the following data : 7
—
3
e
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2. (a) Find the regression line of X on Y using the data given below :

'x [145] 160[ 140 [ 135 | 150|130 | 130|100 | 110 | 100
v |470] 440|400 | 410 | 460|320 | 260| 180 | 100 |60

(b) The equatiu;s of two regression lines are x + 2y = 5 and 2x + 3y — 8 = 0. Find the

means of x and y. Also find the correlation coefficient.

OR

(a) Define regression coefficients and state their properties.

(b) Find two regression lines from the following data :

X 1Y
Mean 100 40
Variance 25 4
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Correlation coefficient = 0.8

Also, Estimate X for Y = 50.

(a) Explain the meaning of business forecasting and discuss its uses.
(b) Fit asecond degree psrabola to the following data : .
Year [ 2013] 2005 | 207 | 2019 | 2021
Profit (in lakh ?) 7o Pis| 17 | 2
' . OR
(a) Fit a straight line to the following data and forecast the sale for the year 2023 :
Year . 2002 [ 2005 | 2008 | 2011 [ 2014 | 2017 | 2020
Sale (In thousand unltsi 7 15 25 38 |.-58 73 | 01

(b) By taking (1 — )= 0.4 and ki_ilitial forecast as 200, obtain forecasts for the

following years by exponential smoothing method :

Year Production
< 2011 230
T2012 | 242

2013 255

2014 271

~ W

7



4. (@) From the following information of a city, calculate GFR, TFR and CBR (Total

(a)

population of the city is 4,40,000) £
Agein | No.of women | No. of life
years (in ‘000) births
15-20 18 1350
20-25 29 2378
25-30 23 2415
30-35 21 1995
35-40 26 1326
40-45 19 665
45-50 14 oR
(b) From the following data, ﬁnd the crude and standardized death rates of two
villages and compare them : 7
Age A B______ Standard
. Number - | Number
(in years) | Population Population population
of deaths of deaths |
Less than | | |
s 3,000 180 ». 4,000 280 3,500
10-25 11,000L_ 7990 13,000 1235 10,000
25-40 15,000 1050] 17,000  1020] 16,000
40-55 19,500[ . 2145]  21,500]  2150] 25,000
55-75 9,000 720 11,000 935 7,000
Above 75 | - 4,000 . 200 5,000 450 3,500
\ OR '
Explain the terms :
(1) Infant Mortality Rate

(b)
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(if) < Crude Death Rate

(i) Crude Birth Rate

The total population of a district is 23,25,000 and in the district there are 860

females per thousand males. 40% of the females are in child bearing age group. -

If general fertility rate of the that district is 45, find the expected number of

children that will be born in the district during the next year. - L |
7 - P.T.O.



5.  Answer the following questions : (any seven) | 14
(1) State two limitations of scatter diagram method.
(2) For 12 pairs of observations of two variables, covariance is 30 and variances of x

and y are 64 and 25 respectively. Find correlation coefficient between x and y.

(3) Ify=7-2x thenr= _—
Ify=—7+2x thenr=

(4) Ifb,=9/5and b:w =.9/20, then ﬁnd I.

(5) Give the difference between correlation and regression.

(6) Write names of any two methods of ﬁssuciation of attributes.

(7) In usual 'notatilﬂn for Associﬁﬁnn of attributes (A) = 310, (B) = 100, (AB) = 120,
(N) = 410. Check whether the data are consistent or not.

(8) The equation of second degree parabola is y = 6 ¥ 35 (x-§010)+ 0.75

x-2010'y L -
( 9 ): ; where x = year. Find forecasting value of y for the year 2020.

(9) In eprnential smoothing method; if ﬂz = 106.4, 5, 104 and T, = 1.6, then find

exponential smoothing constant.

(10) Write normal equations of linear trend.
(11) In ihe year 2020, 30000 births had observed in a town of which 420 children died

| before attaining their age of one year. What is infant mortality rate of the town ?

(12) Total population of a city is 5 lakhs and its Crude Birth Rate (CBR) is 21. If
number of women in child bearing age gfoup . i's 1.5 lakhs, obtain the General
Fertility Rate (GFR). ' ' |

(13) Write formulgr for obtaining Standard Death Rate (SDR). -

(14) Write tﬁe name of methods used for collecting demographic statistics.
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